oA (4x 4 3y) —2(2x —y + 1) = {Fets] ofofet,

(4x+3y) —2(2x—y+1)
=4x+3y—4x+2y -2
=5y -2




oA (4x 4 3y) —2(2x —y + 1) = {Fets] ofofet,

(4x+3y) —2(2x—y+1)
=4x+3y—4x+2y-2
=5y—-2




6x-3y x+4y 4x-5y

2 3 6
@ 2x+2y @)2x -2y ® x+y
@ x+2y ® 2x+y

_ 3(6x—3y) —2(x +4y) — (4x - by)
6
2x — 2y

12x-12y
= =




T}2% o]xpalo] ofd Z1S = 1 2H9

1 1
@D 4-4x - 4x? @1—|———|——2

X X
® 2(x? - x) @ 1-2

(@)2(1 - 2x?) = (x — 4x?)

2(1-22%) - (x-4x%) =2-4x —x+ 42 =2-x
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SEAER oS Wy ZFol 0|3l ol makstith, el
3 o wEolrba] gk o] W SRS ), AUzt
2ol 0] QIR o] 2H42 B stele,

AR 2 r*-1
52°+1 4
—%x+1
2’ +1-3 | —32°+30
—-32°+61—1 ==
> =
> ™E 7x-3

AUk o] 45L BE velolr
—x2,5x2 +1,—-x% + x—3,-3x%2 + 6x— 1 o|t}.
o|ZFAL = T SHH —x2+5x2+1—x2+x—3-3x2+6x—1 = 7x—3




& a,b o ot x— {5x-2(x-3y)} =ax+by @ ™, a,b O G
22} Fsfoler,
D a=-2,b=5 @ a=-1,b=6
®a=2b=6 @a:—z,b:—6

®a=2b=-6

€8 ~
x—{b5x—2(x-3y)} =x- (5x—2x + 6y)
= x— (3x + 6y)
=x—3x— 6y
= —2x — 6y
coax + by = —2x — 6y
et g = -2,b = -6




8.

o[ Jerel guke 42

- [4x—2y— {x— (3x+|:|)} +5y] =—6x—-Ty

@4y @ -4y ® 3y @ -3y

@y

B
- [4x—2y— {x— (3x+|:|)} —|—5y]
:—{4x—2y— (—2x—\:|) +5y}

(oxtaye )

—6x — 3y —

—6x— Ty

2 ]=-6x-3y+6x+Ty=4y




3y - -{2-5-0+3)} -3y’
=3y’ - {y* - (2y-5-y-3)-3y*}
=3y* - {y* - (y-8) - 3)*}

=3y’ - (* -y +8-3)%)

=32 - (-2)2 -y +9)

=32 4+2y°+y-8

=57”+y-8




10.

a=3% b=2"A ] 123* & q, b of T

Ao = epjola

123x — (22 X 3)3x — 26x33x — a3b6




11.

a=3" A o, 81% & q of T3t 4
a a? a3
@ 3 @5 ® 5

B

a=3* a=3.3" =12

(5) =

a

3

81* = (34)x — (3x)4 _

81




12, 2" =x, 3 =y Do, 9" x24%" =+ 32" & x, y of] T3 A o=2 27
LERH A-27

@ x5y2 @ xﬁy @ x6y4 @ x8y2 @x9y3

B \

9" x 243n - 32n — 32n X 29n X 33n - 32n
— 33n X 29n

— 3 xx?

_—







14.

5 4 a, b ol hoto] A4t e,05 aeb = (a%h)? ,a0b = ab®> 22
goJjich. o] off, th&& WSt A, B o tisto] A2+ B 9 &
Satolet,

xe A= (3x%y)2, Boby=(10xy?)?

aeb=(a’h)* YO xe A= (3x%) L xed = (x¥* xA)? =
(2 x 3y)? &2 Lebd 5= glet,

kA A% = 9y A& & 5 Aot

OtA7M A2 a0 b = ab? ©|B2 Bo 5y = (10xy?)? = Bo 5y =
B x (5y)2 = (100x%y*) = 4x%y? x (5y)2 o]t},

webA] B = 4x2y? o]t}

TIBEE A2+ B=9)% + (4x%?) = é ot}




1
12a%b3 + <—§ab5 + (—4ab)?
» E:
6
> mE:
8 1 6
12a2b° x (——> X = ——
“ ab5) " 162262~  ab®




